gtaoglas

PCN — Process Change Notification

Change: OMB.915.B03F21
Date: 2017/07/07
Author Bonnie Chen

Affected Products

Model# Part Number Changes
915MHz 3.5dBi Omni OMB.915.B03F21 1. Amend Antenna Length.
Antenna, with N Type 2. Amend Details of drawing.

Female Connector, U-
Bolt, 318mm Length
@ 70*35mm

Type of Change

[ ] Hardware Modification

[ ] Production Process Advance

[X] Others —Amend Antenna Length and Details of drawing.

Description of Change

Amend Antenna Length from 320mm to 318mm.
Remove Washer and Nut dimenisons.

Amend BOM.

Amend Title of drawing.

Add Dimensions.

akrwdE

Schedule
2017, July, Taoglas will provide new package rule into production.

Forecast Estimated Transition Date
July/2017




gtaoglas

Illustration of Change

Old Drawing
Top View A Side View A\ U Bolt{M6x1.0) A\
N
I NE:
] i N
4 |T¢ |
5s] ' ] ‘ !
| A\ 24435 | i i
| | | |
|9 | q
e i | Detail A | Detail B
ﬁi i & /i |> Scale:2:1 + Scale:2:1
- |3 0 Nut A LN Type(F)AE| 2
B Alsows| | | 5 i
AN | 5435 ~ D03 | | 0 =
AA_ 7085 _| € o |A 06 0.810.6 A\ | e é %
INOT 8 &, et
H \ !
% L e e
I sl Detail C | Detail D
) ! cale:2:1 ! Scale:2:1
S L I i
Name P/N Material Finish [QTY
1 |OMB.915 Antenna | 001212B020021A | Glass Fiber White | 1
2 | Cover 000111K000021A ABS Sliver | 1
3 | Holder 000311K000021A | Aluminum Sitver | 1
4 N Type(F) 201211K000021A Brass Ni Plated | 1
5 | M6 U Bolt 000416H000021A | Stainless Steel Sliver 1 A
6 | M6 Washer 000416H010021A | Stainless Steel Siiver | 2 [A\
7 | M6 Spring Washer |000416H020021A | Stainless Steel | Slver | 2 |4\
8 M6 Nut 000416H030021A | Stainless Steel | Sliver | 2 |A\
UNLESS OTHERWISE ; .
SPECFIED DATE: 2012/03/15 | MAT'L: taog la S REV
TOLERANCES ON: | NIT:  mm | FINISH: 2l antenna SoLUtioNS womgn cee
Wk 68 SNE G [T ARE e oot vt prts ot o e ot of Toog . D
X 0.3 dxxe 0.05| mower € €1 |SCALE:  1/4

TITLE. : 915MHz 3dBi Omni Antenna,With N Type
CUSTOMERS SIGNATURE /' DATE A\ A Female Connector,U—Bolt,320mm Length

PART NO. : OMB.915.B03F21 A

APPROVED BY:
Joanna

CHECKED BY:
Joanna

DRAWN BY:
Eddie




New Drawing

gtaoglas

Top View A\ A\ Side View A\ A U-Bolt & A
82635 A\ —— ._‘_@._._é_._
42 2
! ! & —1-—- —— -
| || & &
10 |
< | |
< | l 44
3 ' ‘ N Type(F
2 | Aoss || ypf()iﬁ‘\‘ A oro
~ |9| %
| | / Bl
‘ ?) i | | i -
i i { > A
i 1 % ¥
o e LL i ® .
| 0 ! \ Loy Deai'l A
E- H \‘j‘é A Scale:4:1
M | 54235 || 13 A\ 503
ML 7035 g QL\%\?
@T@IJ
| 611 A\
‘ 101 A\
351 A\
Name P/N Material Finish |QTY
1 |OMB.915 Antenna |001212B020021A Glass Fiber White 1
2 | Cover 000111K000021A ABS Sliver | 1
3 | Bracket || 000311k000021A |  Aluminum Siver | 1 |A\
4 |N Type(F) 201211K000021A Brass Ni Plated | 1
5 | M8 U Bolt 000412B000021A | Stainless Steel | Sliver | 1 [A\A
6 |M6 Washer 000411K010021A | Stainless Steel | Siver | 2 |\ A
7 | M6 Nut 000411K020021A | Stainless Steel Sliver 2
e RSt | DATE: 0012/03/15| MAT'L: g taoglas REV
@ 02 [UNT:_ mm | FINISH: s S, | &
XX.£ 0.5 XXx 0.1 THIRD ANGLE @ 'E‘ SCALE' 1/4 o be copled or given to third parties without the written consent of Taoglas.
X.£ 0.3 XXX+ 0.05] PRUECTON - TITLE. :915MHz 3.5dBi Omni Antenna, with N Type Female
JPPROVED BY: | CHECKED BY: DRAWN BY:  CUSTOMERS SIGNATURE / DATE| <" & Connector, U-Bolt, 318mm Length @70%55mm
Joanna | Joanna | Eddie PART NO. : OMB.975.B03F21




